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20) 2cosx—+2=0 21) 2cos(2x—%)—\/§:0
22) Zcos§+1:0 23) 4cos’x—3=0
- 2 1
24) cos4x—cosx =0 25) sin X—C0SX =7
X ) r
26) c052x+cos§=0 27) 2c0s x—lzcos(x—z)
28) sin2X + €05 2X =~/2 COS X 29) sin(x+%)+sin(—x+%):l
30) cos4x—sin(%—x):0 31) 3c052x+c056x=%
32) cos5x.cos3x + sin3xsin x = cos 2X 33) 1—\/§cosx:2005x—%
+tan® x

34) 2(sinx+cosx)? —(2++/2)(sinx +cosx)++/2 =0
35) sinx.sin4x = cos3x

36) 6sin*3x+cosl2x =4

COS7 X

—2:1—t3n23x
C0S” 3X

37)

38) (cos3x—sin3x)(cos4x—sindx) = g— sin7x

39) sin(2x+3?ﬂj.sin(2x—3?”):sin22x—cosz4x 40) cos3x =—Cos X
41) S8 _y tan?ox
cos? 2x
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